H & 0l & AHS B Ml A

S RARIPS = algeaiy
o XS BA5
el MsdE =4 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=ag ot 45,100,258 43,304,199 1,796,059
Jl 4,500,658
== 2,469,866
Al 38,129,734
=g gdst 14,061,153 11,124,298 2,936,855
Jl 2,160,658
< 1,469,866
Al 10,430,629
H=dg |54 NE 6,235,649 5,506,833 729,816
Il 160,000
== 177,240
Al 5,898,409
HEMETY 28 2SN 6,480 6,480 0
201 2= 2,880 2,880
01 AtR2t2lt] 2,880 2,880
OM=ZRIZHEUE FXAYE 24 2,880
203 HR=H| 3,600 3,600
03 A=A FAIH| 3,600 3,600
OLE HM="AL 22 & g2 3,600
HEWNE JEXNCA 24 74,900 68,956 5,944
301 EtE N = 74,900 68,956 5,944
4Bt 2as 74,900 68,956 5,944
(©F 3y [ERPSE= PPN, 65,228
[ JNJESONE-F 2,141,000 «2E12& 51,384
[ == PNE==INES) 50,000 1 * 122 600
@ SH| 200,000& «2H* 123 4,800
( RSy 2,142,0002 x2&H 4,284
@ E=SItd| 200,000 x2H =23 800
@I A SAH| 140,000 x2&* 123 3,360
ogdRg=s 403,000 =2 * 1204 2 9,672
HNEE2STIITR 28 2,444,016 1,759,012 685,004
301 EtE N = 2,444,016 1,759,012 685,004
Rzt - 2SFsS2YS 2,444,016 1,759,012 685,004
O=0(RIEXH7Y, H423H) 1,524,624
Od == AJIREH| 140,000,000& 140,000
oxd= 1,500, 000& *402! 60,000
o2dESs 300,000& x30E *23] 18,000
Oul=H| 1,075,0002 *30E <22 64,500
ot =&l 70,0002 x302H*x5 2 *43] 42,000
(OFSPNETSL] 70,0002 *30H x40 84,000
OR&xI=HI 2,000,000 x4H 8,000
(OENERUIS 800,000&*30& 24,000




S RARIPS = algeaiy
33 MsdE 243
el MsdE |54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEEE 6,000, 0002 102 60,000
04464 FABSY|
1,000,0002 x4 4,000
OgEZZ2E 14,590,000& ~ 128 175,080
OAXt=IIANEE 2,432,000& x4H 9,728
O=2A=2Rg=3 1,524,624,000& *4. 5% 68,609
O=0AHIESRE=
1,524,624,000& *3.55% 54,125
ORI QYEHEFES
54,125,000 *12.27% 6,642
ONELEHERE=2S
1,524,624,000& *1.75% 26,681
Ot R Y= 1,524,624,000& *0.92% 14,027
Ol HHI(HHERIESR) 40,000
O"aAWAZIH] 20,000
AY2STIIREs =2 29 E EHl X 422,500 346,400 76,100
201 er2 3| 332,000 262,400 69,600
01 At2tlt] 259,200 202,800 56,400
Og=x4 1,200,000 * 123 +40H & 57,600
(CF=E 720,000 *102+23& 165,600
OZtAlH| 120,000 x10& «30& 36,000
02 s3=gHl 72,800 59,600 13,200
0Z332= % HMAl 24,000
o =4 400,000 * 122 =404 2 19,200
Q=Y AE=
100,000 x12& *40H A 4,800
OAIE2EbBI=XH 48,800
OAOISREE 7 12,400,000 »23] 24,800
OXtE - A8 400,000 x50« 12 24,000
405 AHaHE = 90,500 84,000 6,500
01 ML ESFSHI 90,500 84,000 6,500
OAIOIZ2F AHOIZ 40,000
Og=4 =3 9,500
oZExE 7Y 41,000
ANY2STIIR 2SN 52,000 52,000 0
= 52,000
301 EetE NS 52,000 52,000 0
== 52,000
2istd - 2SFS2EYE 52,000 52,000 0
ONFSSAIIT SN 52,000
< 52,000
HFAM=E 249 X 865,424 888,656 N23,232
307 glztol & 861,424 879,656 A18,232
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2A: Mg
M XsLE 2435
=t M=dE =4 AE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 30,240
Al 14,240
02 QIZHAAAIEER 44,480 44,480 0
ORadE EF WA 23 20,280
& 6,040
Al 14,240
OsAYE =03 17,000
T 17,000
OsAY E3204 XA = 7,200
& 7,200
HE HASZ AME=dH 90,000 90,000 0
& 45,000
Al 45,000
307 212+01™ 90,000 90,000 0
& 45,000
Al 45,000
02 QIZHEAAIHE X 90,000 90,000 0
OZE AL AEESA 90,000
T 45,000
Al 45,000
HA==HE SX SuEA 17,000 17,000 0
207 AN LI 17,000 17,000
01 A2 E9H| 17,000 17,000
OXd==MUE BRI 4tz 2 17,000
o A3 A Y 30,000 30,000 0
& 10,000
Al 20,000
307 212+01™ 30,000 30,000 0
T 10,000
Al 20,000
02 QIZHAAAIHE X 30,000 30,000 0
OF4 243 Al 30,000
= 10,000
Al 20,000
2023 MF=AIAHAILIGEIECIE S B2 40,000 40,000
201 L2 AH| 40,000 40,000
01 AtR2telt] 40,000 40,000
©2023 EF=HHAILIBIERIE S =234
2 EESEFHE S 40,000
M=z 2% XA 3,337,215 2,510,515 826,700
& 727,000
Al 2,610,215
A=A MEHs d3YS0E 3,600 3,600 0




2A:
PSR
ool

SA - BB - S(3H) - MRAY - BES Ol &b ot e HDS2
307 21Z2t0| ™ 3,600 3,600
04 CIZISHAAIR B & 3,600 3,600
OHMI213] M=AIEEH MeEME d=U2UHE 3,600
A=Al EHH MEX=E MEXNEAHUS 4,050 4,500 2450
307 2I2t01™ 4,050 4,500 AN4R0
04 CI2ISHALAIHE B X 4,050 4,500 A450
ORI 128] HFAIZH MEHS HSTEICY
3| 4,050
HTAIEH MEXS EI=U3 7,000 7,000 0
307 2I12+0| & 7,000 7,000
04 CIZISHAIAIH E X 7,000 7,000
OHMI223| MFTAIEEY MEXNE IS 7,000
NMFEAIEHH MEXE 2LSAIUS] 5,000 5,000
307 21Z2H0| ™ 5,000 5,000
04 OIZISHAAIH B & 5,000 5,000
OHMI9g| MFAIEH MEME 2LSAUS 5,000
HZ=AIEH MEX S BCOYLYREEIHICICHE 8,550 8,550
307 SIZH0| & 8,550 8,550
04 DIZISHAFAIRH 2 X 8,550 8,550
OHMI63] MFAIEEH MEXE BLILEREE
HICICHS] 8,550
HFAIEH MEXE MS2HESZUS 5,000 5,000 0
307 21Z2to| ™ 5,000 5,000
04 CIZISHAIAIZ E X 5,000 5,000
ONIOZ| MFTAIEH MEH= ME022E
=2Z3] 5,000
HEAEE MEHE d=HH=2H0IZ U] 6,300 6,300 0
307 2I2t0|™ 6,300 6,300
04 DIZISHAFAIRH 2 X 6,300 6,300
OMI193] MFAIXEH MEXE M=2MH=2ct
OIECHSI 6,300
HFAIEH MEXSE 2&8D|Z203 5,000 5,000 0
307 21z2to| ™ 5,000 5,000
04 CIZISHAIAIH E & 5,000 5,000
OM113| H=AI&EH MEME =8I |SUHE 5,000
HFAEE MEHFE =A4AIRAOIZECHSE 9,000 9,000
307 21Z2t0| & 9,000 9,000
04 CIZISHAAIE B & 9,000 9,000
OM103| M=AIEEH MEXF =&AIRHAO]
ABE3 9,000
SMFAIEE MEH=E ARAIUE 7,650 7,650
307 QIZt0I ™ 7,650 7,650
04 QIZISHAAIR E X 7,650 7,650




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OHmE MFEAZ MEHS AFANS 7,650
HFASE dEH s =S AAH0IEUHS 9,500 9,500
307 elzto| & 9,500 9,500
04 QIZHHAIAME 2 & 9,500 9,500
OMN92] HF=AZH HEHF d=552A
HOIETHE 9,500
A=A EH dEHs d=USSEs2U2 9,400 9,400 0
307 212+01& 9,400 9,400
04 QIZHHAIAIH E X 9,400 9,400
ON202 HFAISH H2H=s =052
sz 9,400
=AU HEH=S SLOEHOICHE 5,000 5,000 0
307 212to1™ 5,000 5,000
04 CIZHHAMALH 2 & 5,000 5,000
OM102 H=AlIZH HEH= FOEOIL=] 5,000
A=A ZH EMF LiH=203 5,000 5,000 0
307 @120l & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
ONI103| H=AIZH &M= LIHIZZUH3 5,000
H=AIEH HEMF 2822203 16,000 16,000
307 212t01™ 16,000 16,000
04 2IZHHALAIS 2 & 16,000 16,000
ONI182l MFAITH HEHS AJRAEEE
=l 16,000
H=AIEH HEMF A2AIHUR 4,500 4,500
307 2I2t01 & 4,500 4,500
04 QIZFSHAIALR 2 25 4,500 4,500
OM102 H=AlZH HEHF A21AFHU
2l 4,500
HFAITH HEHS =203 6,000 6,000 0
307 212+01& 6,000 6,000
04 QIZHHAIAIH E X 6.000 6,000
ONlI6al MF=AIHH MEMSE SZH3 6,000
H=AIEH dEMs 8= g203 9,500 9,500 0
307 elztol & 9,500 9,500
04 CIZHHAMAMH 2 & 9,500 9,500
ORNI252] 8=AIEH HEHT 8= U2 9,500
dFASE 2= &= S0 10,000 10,000
307 212+01& 10,000 10,000
04 QIZFSHAALR 2 2 10,000 10,000
OM202 H=AIEH HEHF A== S+
CHal 10,000
A=A EH HEM=s Met=22 280108 4,500 4,500 0




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 4,500 4,500
04 CIZHHAMAIRH 2 & 4,500 4,500
ON192l HFAITH HEH= M=sE0 &
8103l 4,500
=AU EHE d=HAU 5,000 5,000 0
307 @12to| & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
ORNI243] H=AIEH M= d=HAUS 5,000
H=AIZH HENS =TS 7,200 8,000 2800
307 212+01& 7,200 8,000 A800
04 QIZHHAIAIRH 2 X 7,200 8,000 A800
OM72l H=AIEH HEHS =23 7,200
A fcDtet MEHE AU 10,000 10,000
307 elzto| & 10,000 10,000
04 CIZHHAMAMH 2 & 10,000 10,000
ORNI282] H=AIZH Lclte d2H X 3
tHal 10,000
AT dEHS 4 S0tEi=l 8,550 9,500 A950
307 21201 & 8,550 9,500 A950
04 QIZHHAIAIH E X 8,550 9,500 A950
ORNI92] H=AIZH MEH= =& st0tE
3 8,550
A=A MEMS 024 HOIESEUE ¥ Hed & 10,000 0 10,000
S2AE HOIEZSTUZ
307 elztol & 10,000 10,000
02 2IZHBYAIHE £ 10,000 10,000
ON282l HF=AIZH HEH= 0S4 HOIE
=03 & M7=l od & FRAEHO0IEZ
2l 10,000
S=AEH RIHHE] 7,000 7,000 0
307 @I2t01 & 7,000 7,000
04 QIZHHAMAIH 2 £ 7,000 7,000
OXNieal E=AIEHH RIHHS 7,000
H=AIEH &= Ol=HILIAUZ 6,000 6,000
307 212t01™ 6,000 6,000
04 QIZHHAMAIRH 2 X 6,000 6,000
ORMI182l H=AlEH 8= Ol=HILIAWU= 6,000
H=AI ) HENF HAALI(Y 3 5,000 5,000
307 el2tol & 5,000 5,000
04 QIZIHAIAME 2 & 5,000 5,000
ORM92l 8=AIZH HEHT HAAZIY
2l 5,000
H=AEH 2%AUE 5,000 5,000 0




2A:

33 Msds 243
el dste 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 5,000 5,000
04 IZHHAIAIS 2 X 5,000 5,000
OdFAIEH AU 5,000
NS MEE delial &8 X& 5,000 5,000 0
307 gl2to| & 5,000 5,000
02 2B YA AR £ 5,000 5,000
ousz NEZ delial &8 Xd 5,000
HF=AEI| = 2T =& 0202 6,000 6,000 0
307 212+01& 6,000 6,000
04 QIZHHAIAIH E X 6,000 6,000
OR153] HFAIZI| B= 248D =5
OF=CHE 6,000
A etz 4,500 4,500
307 elzto| & 4,500 4,500
04 CIZHHAMAMH 2 & 4,500 4,500
ORNM213] M=AIZH LatHal 4,500
A=A =S57 & FLESEUE S2U2 17,000 17,000
307 @120l & 17,000 17,000
04 QIZHHAMAIH 2 £ 17,000 17,000
ORN27al B=AIEH =S=2U3 & M128
FAESEUY F20U3 17,000
HFAEI L EFAIEE EH2SE U3 9,000 9,000 0
307 elztol & 9,000 9,000
04 QIZHHAMAIRH 2 X 9,000 9,000
ORMI2 HF=AIEI] & M202 H=AIEH 2
H=dUal 9,000
A SetU=] 4,500 4,500 0
307 gl2tol & 4,500 4,500
04 QIHHAMAIH 2 £ 4,500 4,500
ORMI0al EF=AIEDI| SLHHE 4,500
SF=AIEE AZEHILIADE 5,400 5,400 0
307 212+01& 5,400 5,400
04 QIZHHAIAIH E X 5,400 5,400
OHMI12al d=AZU AZEHILIACHS 5,400
d=AIEH SEH=4UE 5,000 5,000
307 elztol & 5,000 5,000
04 QIZHHAMAMH 2 & 5,000 5,000
ON202! &=AIEH sEd=4U3 5,000
A=Al ZH E=0t0HHI= 2l 10,000 10,000
307 gl2to| & 10,000 10,000
04 QIHHAMAIH 2 £ 10,000 10,000
OX182] &F=AIZHH &=0t0HH=CHE 10,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=AU s72U= 7,290 7,290
307 elztol & 7,290 7,290
04 QIZHHAMALH 2 & 7,290 7,290
OHM218] E==AIEHH s7UHE 7,290
HFAIEH 82225502 2 024 5§13 12,200 12,200
307 gl2to| & 12,200 12,200
04 QIHHAIAIH 2 £ 12,200 12,200
ORMI2 A d=2ES22 & 02
A &2 12,200
HFAIEH REUE 8,000 8,000 0
307 elztol & 8,000 8,000
04 QIZIHAIAIRH 2 X 8,000 8,000
OHM273] =AU REHE 8,000
A EHA =S 5,000 5,000 0
307 212to1™ 5,000 5,000
04 CIZHHAMALH 2 & 5,000 5,000
ON262l 8F=AIEI| B =HE 5,000
HFAIZHE 2 S EHH HILIACE 7,250 7,250 0
307 @120l & 7,250 7,250
04 QIZHHAMAIH 2 £ 7,250 7,250
ORMI302 H=AIZE & M202 S2&H HiL
A0S 7,250
BFAIED] HEX=S HHECIE S 9,500 9,500
307 212t01™ 9,500 9,500
04 QIZHHANAIS 2 9,500 9,500
ON332l HFAIFI| HEH= =S 9,500
A SEUE 202 10,000 10,000
307 el2to| & 10,000 10,000
04 QIZHHAIAIH 2 £ 10,000 10,000
ON27al HF=AIZHH SEUE B3l 10,000
H=AED FUE 9,000 9,000 0
307 @I2t01 & 9,000 9,000
04 QIZIHAIAIH E X 9,000 9,000
OHM312 E=AIEI] SRUE 9,000
A =S U2 6,000 6,000 0
307 glztol & 6,000 6,000
04 CIZHHAMAIH 2 & 6,000 6,000
OM192] dF=AIZH =Sz 6,000
HFAEI| S4U= 5,000 5,000
307 el2to| & 5,000 5,000
04 QIHHAIAIH 2 £ 5,000 5,000
OXNi6al &F=AIEI| Szl 5,000




of
i’
oF
uJ

-

KIO

Hlw

5,000

5,000
5,000

MEE
Ofl &k2h

44,000
44,000
44,000

7,000
7,000
7,000

7,000
7,000
7,000

229,925
229,925
229,925

14,500
14,500
14,500

63,000
15,000
15,000

48,000
48,000

5,000
5,000
5,000

10,000
10,000
10,000

20,000
20,000
20,000

Ofl &F2H

44,000
44,000
44,000
44,000

7,000
7,000
7,000
7,000
7,000
7,000
7,000
7,000

229,925

229,925

229,925

229,925

14,500
14,500
14,500
14,500

68,000
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2A:

o XS BA5
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A S0l OF2HE 6,000 6,000
307 elztol & 6,000 6,000
04 QIZHHAMALH 2 & 6,000 6,000
OHN4zl 8F=AIZH S22 OFHZl 6,000
d=0d=5-1U= £H 2,500 2,500
307 gl2to| & 2,500 2,500
04 QIHHAIAIH 2 £ 2,500 2,500
(OFSESIGESEnlB oIS 2,500
JFAlgle] A= ?et 28I 2= 2,700 2,700 0
307 212+01& 2,700 2,700
04 QIZHHAIAIH E X 2,700 2,700
O FAIRIS HHES st EG)| 2 2,700
clE0F2E K& 30,000 30,000 0
307 elztol & 30,000 30,000
02 2B YA E X 30,000 30,000
OclE0tE K& 30,000
d="ct2E=Zls] 24 2,000 2,000
307 gl2tol & 2,000 2,000
04 QIHHAMAIH 2 £ 2,000 2,000
OXFeI2E2ZUs =d 2,000
N=2 =M 2o OietENs 28 4,000 4,000
307 212+01& 4,000 4,000
04 QIZHHAIAIH E X 4,000 4,000
OME =Ml 2H0 OletEle 28 4,000
HFE2E FHMEHHEEU= 75,000 275,000 A.200,000
= 75,000
307 @I2t01 & 75,000 275,000 A200,000
[ 75,000
04 QIZIHAIALE 2 & 75,000 275,000 A200,000
OMF=2E ZNHAZU 75,000
= 75,000
&= EeletelotetEl 2l 200,000 200,000 0
= 100,000
Al 100,000
307 el2to| & 200,000 200,000 0
= 100,000
Al 100,000
04 QIZHHAMAIH 2 £ 200,000 200,000 0
O&= FCeletolitetEHs! 200,000
== 100,000
Al 100,000
OISt d=0t0tHIS &= 3 35,650 36,650 0




2A:

33 Msds 243
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,000
Al 25,650
307 lztol & 35,650 36,650 0
= 10,000
Al 25,650
04 CIZHHAMAMH 2 & 35,650 35,650 0
O0I¥ S d=0I0tHtSd =AU =l 35,650
= 10,000
Al 25,650
=2 2IIE0EW 2 35,000 25,000 10,000
< 25,000
Al 10,000
307 212+01& 35,000 25,000 10,000
& 25,000
Al 10,000
04 CIZHHAMAIRH 2 & 35,000 25,000 10,000
ON=FRIIE0IHEUR 35,000
= 25,000
Al 10,000
SSHHSSHAR Y2 d=SUA0IZ2U3 85,000 85,000 0
s 15,000
Al 70,000
307 @I2t01 & 85,000 85,000 0
< 15,000
Al 70,000
04 QIZHHANAIS 2 X 85,000 85,000 0
O=2 =222 2| A=SHUALOIZH
2 85,000
= 15,000
Al 70,000
dEet=0te d=H=2EU S 50,000 50,000 0
=S 15,000
Al 35,000
307 21201 & 50,000 50,000 0
< 15,000
Al 35,000
04 QIZHHAIAIRH 2 X 50,000 50,000 0
OxFet=0ts == 50,000
= 15,000
Al 35,000
det=0ts d=dH Sz ti2ial 78,000 78,000 0
= 13,000
Al 65,000




2A:

33 Msds 243
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 78,000 78,000 0
= 13,000
Al 65,000
04 CIZHHAMAMH 2 & 78,000 78,000 0
ot Fet=0ts A= S350 U3 78,000
= 13,000
Al 65,000
dzet=0te =520 32 65,000 65,000 0
< 10,000
Al 55,000
307 elztol & 65,000 65,000 0
& 10,000
Al 55,000
04 IZHHAIAIS 2 65,000 65,000 0
odFet=ite d=F-U3 65,000
= 10,000
Al 55,000
d=gt=0le AXXZ0I12S3eIUE 45,000 45,000 0
s 15,000
Al 30,000
307 212+01& 45,000 45,000 0
[ 15,000
Al 30,000
04 QIZHHAIAIS 2 X 45,000 45,000 0
ONE=20tle AX=ZS2H0I1Y=SS2IU3] 45,000
= 15,000
Al 30,000
det=0ts d=3H=EUz2 20,000 20,000 0
S 20,000
307 elztol & 20,000 20,000 0
= 20,000
04 QIZHHAMAIH 2 £ 20,000 20,000 0
O =gt=0ts d=HI=EU2 20,000
== 20,000
HE8 stitg d=21=403 40,000 40,000 0
=S 20,000
Al 20,000
307 21201 & 40,000 40,000 0
< 20,000
Al 20,000
04 QIZHHAIAIH E X 40,000 40,000 0
O0i=d stitd =542 40,000
& 20,000




2A:

33 Msds 243
el dste 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 20,000
dxst=0te dEHs d=0dE572032 14,000 14,000 0
== 5,000
Al 9,000
307 212+01& 14,000 14,000 0
< 5,000
Al 9,000
04 QIZHHAMAIRH 2 & 14,000 14,000 0
O Fet=0ts dEMs 80852 Uz= 14,000
= 5,000
Al 9,000
U E=AFHAA=2U 2 37,000 37,000 0
=S 12,000
Al 25,000
307 21201 & 37,000 37,000 0
< 12,000
Al 25,000
04 QIZHHAIAIRH 2 X 37,000 37,000 0
O3 EH MIARAL=RAS 37,000
= 12,000
Al 25,000
Uet=d a8 d==2 U3 105,000 105,000 0
= 30,000
Al 75,000
307 @120l & 105,000 105,000 0
s 30,000
Al 75,000
04 QIZIHAIAIH E X 105,000 105,000 0
oust=gE2dtl d=28Uzl 105,000
[ 30,000
Al 75,000
HFEEd d=gUHI =3 40,000 30,000 10,000
= 10,000
Al 30,000
307 el2to| & 40,000 30,000 10,000
= 10,000
Al 30,000
04 QIZHHAMAIH 2 £ 40,000 30,000 10,000
Od=ddd Mgz 40,000
== 10,000
Al 30,000
NS &==8Ual 125,000 125,000 0
= 25,000




2A:

X XH -
o=

s 2 (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 100,000

307 gl2tol & 125,000 125,000 0
=S 25,000
Al 100,000

04 QIZHHAMAIH 2 £ 125,000 125,000 0
ousatl &=z 125,000
< 25,000
Al 100,000

Hd=Z U eor2i3l 80,000 50,000 30,000
= 40,000
Al 40,000

307 el2tol & 80,000 50,000 30,000
= 40,000
Al 40,000

04 QIRHHAMAIH 2 £ 80,000 50,000 30,000
O =S8 U o2l 80,000
== 40,000
Al 40,000

d=glHs1sstd SE 83203 120,000 0 120,000
= 50,000
Al 70,000

307 elztol & 120,000 0 120,000
= 50,000
Al 70,000

02 2B YAIHE £ 120,000 0 120,000
Ood=gUHs1SsY S8 71Uz 120,000
= 50,000
Al 70,000

OlAIOH B4 H= d4-2U3 125,000 0 125,000
[ 80,000
Al 45,000

307 glztol & 125,000 0 125,000
= 80,000
Al 45,000

02 2B HAIHE & 125,000 0 125,000
OO0IAIOH A HE d=2l3 125,000
= 80,000
Al 45,000

2023 HF=HIAHAILIGBI =B d =2 TH 2] 1,000,000 0 1,000,000
== 100,000
Al 900,000

307 212+01& 1,000,000 0 1,000,000
< 100,000




2A:

o XS BA5
=Rl M=ta 29 A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 900,000
2 QIZHEAMANEEX 1,000,000 0 1,000,000
©2023 F=HHALIHBHIERIH =AU 3 1,000,000
T 100,000
Al 900,000
SIS HE B=HAATIIMLAYG L SEY 40,000 0 40,000
METKHAAIRF
& 30,000
Al 10,000
307 212+01 A 40,000 0 40,000
& 30,000
Al 10,000
02 QItBAAIHE R 40,000 0 40,000
OUStMS3I B M=HAAT =M=
3 ¥ SEH MEXNSHAATLIS 40,000
& 30,000
Al 10,000
FH M=E 2EHWA (13 90,000 0 90,000
& 20,000
Al 70,000
307 212+01 ™ 90,000 0 90,000
& 20,000
Al 70,000
02 QIZtB AT E R 90,000 0 90,000
OFH d=0sr A=AWN (i3 90,000
T 20,000
Al 70,000
BEHHCIEE SHOtSMEUE € 25 30,000 0 30,000
= 7,000
Al 23,000
307 2I2+01A 30,000 0 30,000
& 7,000
Al 23,000
04 QUZHHAIAIE E X 30,000 0 30,000
OXBCcHEHIE S stitSMsUE & 23t
2o 30,000
T 7,000
Al 23,000
MEXE 243 N3 4,488,289 3,107,950 1,380,339
| 2,000,658
& 565,626
Al 1,922,005
Aot MEHS XS A HiX 364,776 338,523 26,253
| 138,09%




S RARIPS = algeaiy
33 Msds 243
ool dENS 245 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 226,680
307 gl2tol & 364,776 338,523 26,253
Il 138,096
Al 226,680
02 QB AANSEER 364,776 338,523 26,253
OXNEL 20 & HERE= 276,192
7l 138,096
Al 138,096
OXNEA =& 88,584
Fad HEHSANCA X 39,718 37,042 2,676
) 15,344
Al 24,374
307 @120l & 39,718 37,042 2,676
Il 15,344
Al 24,374
02 LB AANHEE 39,718 37,042 2,676
OXNEL =20 & HERE= 30,688
Jl 16,344
Al 15,344
OXNEX =& 9,030
Hed HEMFAEA B 407,793 338,523 69,270
) 153,440
Al 254,353
307 @120l & 407,793 338,523 69,270
Il 153,440
Al 254,353
02 LB HANHEE 407,793 338,523 69,270
OXNEL =20 & HERE= 306,880
7l 163,440
Al 153,440
OXNEX =& 100,913
gstoloet 2= HEisE2 08 29 48,000 50,000 /2,000
=S 18,000
Al 30,000
307 @I2t01 & 48,000 50,000 /2,000
== 18,000
Al 30,000
02 LB HANHEE 48,000 50,000 22,000
Olfstoltet 28 MENFTEZ 1S 23 48,000
& 18,000
Al 30,000
dHEHNSUY 29 142,678 142,678 0
= 42,806




S RARIPS = algeaiy
33 Msds 243
ool dENS 245 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 99,872
307 gl2tol & 142,678 142,678 0
=S 42,806
Al 99,872
02 QB AANSEER 142,678 142,678 0
odEM=ws 2¢ 142,678
< 42,806
Al 99,872
Al O dEH =S WA 18,000 18,000 0
307 elztol & 18,000 18,000
02 2B HAIAE & 18,000 18,000
OHFTAl Z0HQ dEHS WA 18,000
0l HEMFAIEAL BHX 307,621 299,260 8,361
Jl 122,112
Al 185,509
307 21201 & 307,621 299,260 8,361
Jl 122,112
Al 185,509
02 LB HANHEE 307,621 299,260 8,361
OXNEL 20 & HHRE= 244,224
J| 122,112
Al 122,112
OXNEX =& 63,397
HEHF s2021 2 314,743 134,743 180,000
s 40,503
Al 274,240
307 @I2t01 & 314,743 134,743 180,000
< 40,503
Al 274,240
02 2B HAHE L 314,743 134,743 180,000
odEgH=s s52el0 29 134,743
= 40,503
Al 94,240
OsJe =221 23 180,000
HENEZE N =24 361,600 304,000 57,600
== 73,920
Al 287,680
307 212+01& 361,600 304,000 57,600
[ 73,920
Al 287,680
02 2B A HE L 361,600 304,000 57,600
odaM=ZE Nk 28 361,600




S RARIPS = algeaiy
33 Msds 243
ool dENS 245 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 73,920
Al 287,680
HEH L 2 RAES 30,000 30,000
201 er2 3| 7,000 7,000
02 S3=4gHl 7,000 7,000
odENx 28 RANE+ 7,000
401 AlZHIZ SO 23,000 23,000
01 A28l 23,000 23,000
odEMx 28 |RAE+ 23,000
MEHE XN S 9,500 9,500 0
307 elztol & 9,500 9,500
02 ItB A HE L 9,500 9,500
OdEHx HEXNTA H 9,500
HES AHE=SE 2 & 24 6.000 5,000 1,000
307 elztol & 6,000 5,000 1,000
02 2IZHBYAIHE & 6,000 5,000 1,000
OdEXN=E dHH=4 22 & &4 6,000
oL B+ A 18,000 16,000 2,000
307 @120l & 18,000 16,000 2,000
02 QB AANEER 18,000 16,000 2,000
O MLl i+ A& 18,000
ARXAH0IEHE XS 1,981,320 1,037,851 943,469
J| 1,386,924
=S 297,198
Al 297,198
301 LEtE NS 1,981,320 1,037,851 943,469
Jl 1,386,924
= 297,198
Al 297,198
01 Al EE A S (2 RDEXA) 1,981,320 1,037,851 943,469
OAZ=ZZ0IZH XI& 1,981,320
Il 1,386,924
= 297,198
Al 297,198
FHAALZZH0ISH A2 215,460 80,750 134,710
Il 150,822
= 32,319
Al 32,319
301 EtE N = 215,460 80,750 134,710
) 150,822
< 32,319
Al 32,319




A M
M MsEE 2435t
Chel: MENs 245 Ad (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
01 MBI BEAG6Z2(2DEXTHA) 215,460 80,750 134,710
OFHAUAZ=LH0|ER XA 215,460
| 150,822
= 32,319
Al 32,319
HdSAZEZSYE 2IX& 65,000 80,000 A 15,000
& 25,000
Al 40,000
307 QI2Hol M 65,000 80,000 A 15,000
& 25,000
Al 40,000
02 QItBAAIHE R 65,000 80,000 A 15,000
ONMSAZ=ZY 2K 65,000
& 25,000
Al 40,000
HFHIMAZXZYH 2HAA 45,000 60,000 A 15,000
& 15,000
Al 30,000
307 QI2H0l A 45,000 60,000 A 15,000
& 15,000
Al 30,000
02 QIRHHAAIHE X 45,000 60,000 A 15,000
OWFHIMALZ=ZY 2IXA 45,000
& 15,000
Al 30,000
d=AET=ZSYH 2FXA 35,000 0 35,000
= 10,000
Al 25,000
307 QI2H0| M 35,000 0 35,000
& 10,000
Al 25,000
02 QIRHHAAIHE X 35,000 0 35,000
QWFALXZY 2L 35,000
& 10,000
Al 25,000
SHMSOHE 78,080 78,080 0
| 33,920
& 10,880
Al 33,280
301 LetEEF 78,080 78,080 0
| 33,920
= 10,880
Al 33,280




SN HISD
33 Msds 243
ool dENS 245 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 78,080 78,080 0
Ot s0tME 78,080
Jl 33,920
< 10,880
Al 33,280
M= 243t 30,985,279 32,126,075 21,140,796
Jl 2,340,000
= 1,000,000
Al 27,645,279
HESAISAE X2 30,985,279 32,126,075 21,140,796
Il 2,340,000
< 1,000,000
Al 27,645,279
n=as=d |2l 80,000 45,000 35,000
201 er23| 10,000 5,000 5,000
2 52484l 10,000 5,000 5,000
ouzaz=td sX2cl 10,000
401 AIEHIX R0 70,000 40,000 30,000
01 A28l 70,000 40,000 30,000
ouza=td sA2cl 70,000
ST Al USENSUH AE 4,010,000 0 4,010,000
201 et 3| 10,000 10,000
03 A2 I 10,000 10,000
O=AETAl OSAMSUEH A 10,000
401 Al HIZL 201 3,550,000 3,550,000
01 Al&H| 3,500,000 3,500,000
OEMEAl USAMSHH A8 3,500,000
02 Zeltl 50,000 0 50,000
OSAIEAl USHASHH HE 50,000
405 AtatsE = 450,000 450,000
01 TR ESFISHI 450,000 450,000
OSAIEAl U=HMSHH HE 450,000
== ZEEEFIE 2E 2,000,000 2,250,000 A250,000
Jl 1,000,000
=S 1,000,000
401 Al HIZL 01| 2,000,000 2,250,000 250,000
Jl 1,000,000
== 1,000,000
01 Al&H| 2,000,000 2,250,000 250,000
Otz ZENEZI|IE HY 2,000,000
) 1,000,000
& 1,000,000




2A:

33 M=s 243
=Rl MSTSAE X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANFd dEaid NS 2HE 2,810,000 500,000 2,310,000
201 er23 | 10,000 0 10,000
03 ALY 10,000 0 10,000
ONMSH d22xE IUNSUH A8 10,000
401 AIZHIX S0 2,400,000 500,000 1,900,000
01 AlZH| 2,367,000 500,000 1,867,000
oM H22UXE IUUMSHH HE 2,367,000
02 Zeltl 33,000 0 33,000
OMS d22xe RUNMSUE A 33,000
405 AHAHE S 400,000 400,000
01 AL =S F = 400,000 400,000
ONMSA d22xe IUNSUH A 400,000
mas=y x4 110,000 108,000 2,000
401 AIEHIX SO 110,000 108,000 2,000
01 AlZH| 110,000 108,000 2,000
omzasLyd x4 110,000
HEAE FX2cl 206,000 196,000 10,000
201 et 3| 206,000 196,000 10,000
02 s3=gHl 206,000 196,000 10,000
OMS=AIE X2 15,000
CHUN=Z HF= 191,000
HsAlg2d Ald2e8H d&s 10,039,279 9,822,075 217,204
309 HES 9,919,279 9,354,875 564,404
01 SAt- SHEYNES 9,919,279 9,3%4,875 564,404
OMsAg2e 2 9,919,279
404 SAISEHIEEES 120,000 467,200 A347,200
01 SAk- SEHHEdES 120,000 467,200 A347,200
ONM=EAE2SE AEXE 120,000
H=AIE cl22E 100,000 100,000 0
401 AIEHIZ R HYI 100,000 100,000
01 Al&HI 100,000 100,000
OM=AIE cl2ad 100,000
FEHZINE AL 2= 1,600,000 996,000 604,000
401 Al HIZ 2018 1,600,000 996,000 604,000
01 Al&H| 1,600,000 881,000 719,000
OF=ZHEINE ANE 2 1,600,000
FoHSTLY SHOIRA HES 1,100,000 1,100,000
401 Al HIZ S 0HbI 1,100,000 1,100,000
01 AlZ2H| 1,100,000 1,100,000
OZA=H=TY SHO2RA 2= 1,100,000
g5 MS4dH HE 2,180,000 0 2,180,000




2A:

bSIESgalys )y

33 M=s 243
=Rl MSTSAE X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 2,180,000 0 2,180,000
01 Al&H| 2,180,000 0 2,180,000
OgFd MEHH HE 2,180,000
= SYAELXERR F=AE X4 1,000,000 0 1,000,000
401 AIZHIX S0 1,000,000 1,000,000
01 AlZH| 1,000,000 1,000,000
Od= SEAZXER XY X4 1,000,000
SHHBESE AE0FE &4 1,000,000 0 1,000,000
401 AIEHIZ SR HYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OMMHHSH L2012 X4 1,000,000
SSHSAIE FEEEH 50,000 110,000 260,000
401 Al HIZL 201 50,000 110,000 260,000
01 Al&H| 50,000 110,000 60,000
OSSHSAIE J2H8EL 50,000
sHatHs 2 2 500,000 500,000
401 Al HIYL S CHYI 500,000 500,000
01 AlZ2H| 500,000 500,000
OstitHE2 2B 500,000
SSHMSAE AINL B=SA 100,000 0 100,000
401 AIEHIZ SR HYI 100,000 100,000
01 Al&HI 100,000 100,000
OSSHMSAIE XL 2=3At 100,000
Ha+=3d e 500,000 0 500,000
Jl 500,000
401 AIEHIZ SR THYI 500,000 0 500,000
Jl 500,000
01 Al&H| 500,000 0 500,000
OHd=gd 2B 500,000
Jl 500,000
daFINE dSAAE WA 1,500,000 0 1,500,000
Jl 450,000
Al 1,050,000
401 AIEHIX R0 1,500,000 0 1,500,000
Jl 450,000
Al 1,050,000
01 AlZ2H| 1,500,000 0 1,500,000
OdaBINY HSAAE Wl 1,500,000
Il 450,000
Al 1,050,000
FEHZIE ESSHEEX X S JIHLH ML 700,000 0 700,000
Il 210,000




A Hs&S 0
g M= g4zt

=t M=EAE XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 490,000
401 AIEHIX 20 700,000 0 700,000
Il 210,000
Al 490,000
01 AlZ8| 700,000 0 700,000
OBELAIIF ESHIFA £ S I
HI JHA 700,000
Jl 210,000
Al 490,000
SHMMENSSE LAY JHA 600,000 0 600,000
Il 180,000
Al 420,000
401 AIZHIX S0HH 600,000 0 600,000
Jl 180,000
Al 420,000
01 AlZ28| 600,000 0 600,000
O=MMUHHFTSA HILIAZ N 600,000
Jl 180,000
Al 420,000
S S22 SICAIE &5 200,000 0 200,000
402 QI”F X201 & 200,000 200,000
01 QI X2 AL E A (KEHITHE) 200,000 200,000
O+ g4 SICAIE && 200,000
= SENEE SYAEXER E2EX =24 JlE 250,000 0 250,000
2t
401 Al&HIL 2] 250,000 250,000
01 Al 250,000 250,000
Ol SENLE SYAEXER HE2E
A x2d JlEay 250,000
sHtXs2 =X RI3 SA 350,000 0 360,000
401 Al HIZL 201 360,000 360,000
01 Al&H| 350,000 350,000
OstitH=2 =XHE F23H SA 350,000
HH2LIHI(H=FASD) 53,826 53,826 0
Jl2Z8l (M=) 53,826 53,826 0
JlE2ZHI(HsAS) 53,826 53,826 0
201 223 31,656 31,656 0
01 At22t2lH] 26,656 26,65 0
oget=ZH| 13,600
C=E il 13,056
02 S3=4gl 5,000 5,000 0
OXtgrs el 5,000
202 04| 18,570 18,570 0




A Hs&S 0
M HYR2SEZHI(H
&2l JI2ZHI(MS4

RN - I BRA(E) - HRA - BES of v A
01 =LHAHI 18,570 18,570
OJ|=2HRFTNY| 18,570
203 gR=| 3,600 3,600
MU A2 LRSI 3,600 3,600
ORMEZYE =] 300,000 * 12 3,600




